% S1.6. HRGDPMO S EE 20124 BEE HE(l vs HIZBABL— (2)

GDP, 10{8201241—0A
GDP (B&E S 1) /
GDP (&&L—Hk) tb&
3=l LEDABL—H
o 71,200 100% 56,500 100% 126%
3—nowv/R 17,800 25% 15,900 28% 112%
EU 14,700 21% 14,100 25% 104%
AL T/ 9954F 3,100 4% 1,800 3% 172%
T A) A KEE 20,600 29% 18,300 32% 113%
KE/ATHE 14,300 20% 13,400 24% 107%
hEgK 6,300 9% 4,900 9% 129%
72Uh 2,800 4% 1,600 3% 175%
k77U 1,000 1% 500 1% 200%
B ITHNSTI)h 1,800 3% 1,100 2% 164%
77 30,000 42% 20,800 37% 144%
HE 10,400 15% 6,400 11% 163%
AR 4,000 6% 1,600 3% 250%
BA 3,800 5% 4,700 8% 81%
Eqolic 11,800 17% 8,100 14% 146%

BEHFEMTR-HR GDPIX, 2012FIZ(FH LZF71.2ka—0O o=, HREAQXT705EANZELZD T, IAHY
GDPI£10 100€ (A IRE K Z760€ IZHHH), MFIFERADA —IANEIZHHT=,
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